Let y(z) be the solution of the following initial value problem

y () =ycosz, y(0)=1.
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Let y(t) be the solution to the initial value problem
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Let y(z) satisfy the following exact equation with initial condition

(22%e®¥ — 3z cosy)dy + (—3siny + 2xe?¥ + 2)dz =0, y(1) =0.

Which of the following give an implicit formula for y(z)?
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Let A be a 3 x 3 matrix and let £ be the reduced row-echelon form of A. If the second
rowof Eis[0 1 — 1], consider the following statements:

I. A is not row-equivalent to the 3 x 3 identity matrix.
II. It is possible that the rank of A is equal to one.
ITI. The rank of A is equal to two. [ g = = }
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Find all constants a such that the origin is a saddle point for the system
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Find the Wronskian determinant W( f, g, h) for the three functions
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